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LV-Nr. 02-698-053, erfasste Fragebdgen = 21

1. Please assess the extent to which you agree to the following statements concerning the course.
0% 4,8% 0% 42,9% 52,4%
1.1) . 3 3 R _
The course is clearly structured. strongly disagree ———h strongly agree g;'2=14 .
dev.=b,7
1 2 3 4 5
0% 4,8% 0% 23,8% 71,4%
' The lecturer seems to care about the students' strongly disagree : — T strongly agree n=21
learning success. i dev.=0.7
1 2 3 4 5
. . 0% 4,8% 9,5% 23,8% 61,9%
®) The lecturer makes the course interesting. strongly disagree - - = °= " strongly agree n=21
dev.=b,9
1 2 3 4 5
0%  48% 0% 143% 81%
1.4) ; : 2 : _
The lecturer behaves in a friendly and respectful strongly disagree — strongly agree 2
manner towards the students. dev.=0.7
1 2 3 4 5
0% 48% 0% 286% 66,7%
1.5) f ; 2 : : _
The lecturer goes into the students' questions and strongly disagree H—— strongly agree n=21 6
suggestions in sufficient detail. dev.=0.7
1 2 3 4 5
- o 0%  95% 48% 381% 47.6%
9" The lecturer clarifies the usability and usefulness strongly disagree : N ) strongly agree n=21
of the subject covered. v dev.=0.9
1 2 3 4 5
0% 95% 95% 333% 47,6%
17) ; ; i 2 2 : : _
The way in which the course is held furthers strongly disagree \ N : strongly agree g;'2=14 5
understanding of the subject. dev.=1
1 2 3 4 5
. . 0% 4,8% 9,5% 33,3% 52,4%
¥ The lecturer makes use of helpful aids (e.g. script, strongly disagree : > T strongly agree n=21
presentations) to support the learning process. ' ' ' Fovet.9
1 2 3 4 5
0% 9,5% 14,3% 33,3% 42,9%
1.9) B ; : ) , ) , _
The lecturer encourages my interest in the subject strongly disagree ; } . strongly agree =2
area. dev.al
1 2 3 4 5
. . . 0%  48% 143% 286% 524%
'19 The lecturer uses the time available to him/her for strongly disagree - - p s . strongly agree n=21
the essentials. dev.=0.9
1 2 3 4 5
0%  48% 19% 23.8% 524%
1.11) f v i , _
The lecturer clearly demonstrates how diverse strongly disagree : N : strongly agree =21
dev.=0,9
1 2 3 4 5

information is interrelated.
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. 0% 4,8% 4,8% 23,8% 66,7%
"2 The lecturer expresses himself/herself clearly and strongly disagree - - — strongly agree 2.
. F 1 av.=4,
comprehensibly. v dev=0.8
1 2 3 4 5
. . 0% 4,8% 48% 47,6% 42,9%
13 The course provides a good overview of the strongly disagree : : — T strongly agree n=21
. ' i av=4,
subject area. v dev.=0.8
1 2 3 4 5
e . 0%  95% 762% 14,3% 0%

1% The level of difficulty of the course is... much 100 low - - — - — much too high n=21
av.=,
dev.=0,5

1 2 3 4 5
. 0%  48% 47,6% 33,3% 14,3%
1) The scope of the course is... much too low - - I - (] O. - much too high ”=2g 5
! i av.=3,
! dev.=0,8
1 2 3 4 5
0% 0% 857% 143% 0%
1.16) . s > _
The pace of the course is... much too low e much too high =21
dev.=b,4
1 2 3 4 5
) . 0% 48% 95% 286% 57,1%
' Qverall, | am very satisfied with the lecturer as the strongly disagree —T : strongly agree n=21
course instructor. L Jovsoo
1 2 3 4 5
0% 4,8% 19% 23,8% 52,4%
18 Qverall, | am very satisfied with the course 4 : : : n=21
’ ry . strongly disagree I = i strongly agree av.=42
dev.=0,9
1 2 3 4 5
. . 0% 0% 23,8% 47,6% 28,6%

"9 How much have you learnt in this course? very little } } ° i - - very much 2
av.=:
dev.=0,7

1 2 3 4 5
. . 0%  333% 286% 23,8% 14,3%
29 What was your level of interest in the course very low - = . - very high n=21
subject before the course began? ' ' ' Govot 1
1 2 3 4 5
L
21 What were your reasons for attending the course? Several answers possible
. o n=21
important for exam :] 38.1%
compulsory course :] 23.8%
out of interest S 42.9%
to obtain an overview of the subject :] 47.6%
because of the lecturer :] 33.3%
other reasons :] 19%
22 How much time (in hours) do you spend on average per week (outside class) working on the substance matter?
o0 4o =2,
dev.=0,9
5-6( ) 9.5%
more than 6 O 4.8%
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Profile

Subunit: 02-Wirtschaftswissenschaften
'|' Name of the instructor: Prof. Dr. Wolfgang Kerber
1 Name of the course: Innovation Economics

(Name of the survey)

Values used in the profile line: Mean

1. Please assess the extent to which you agree to the following statements concerning the course.

1.1 The course is clearly structured. strongly - strongly agree
disagree \ n=21 av.=4,4 md=5,0 dev.=0,7
12)  The lecturer seems to care about the students' strongly \. strongly agree =21 V=46 md=50 dev=07
learning success. disagree / = = = =
13)  The lecturer makes the course interesting. strongly .I strongly agree =21 aved4  md=50 dev=09
disagree \ = = = =Y
14)  The lecturer behaves in a friendly and strongly \. strongly agree ~ B 5 N
respectful manner towards the students. disagree / n=21 av.=47 md=50 dev=07
1) The lecturer goes into the students' questions strongly _.l strongly agree ~ B _ ~
and suggestions in sufficient detail. disagree / n=21 av.=46 md=50 dev=07
16) The lecturer clarifies the usability and strongly ./ strongly agree ~ B . N
usefulness of the subject covered. disagree , n=21 av.=42 md=4,0 dev=09
17) The way in which the course is held furthers strongly .l strongly agree ~ B . B
understanding of the subject. disagree \ n=21 av.=42 md=4,0 dev=1,0
18)  The lecturer makes use of helpful aids (e.g. strongly \. strongly agree ~ B _ ~
script, presentations) to support the learning disagree / n=21 av.=43  md=50 dev=09
process.
19)  The lecturer encourages my interest in the strongly .[ strongly agree =21 aved 1 md=40  dev=10
subject area. disagree \ = = = =h
110) The lecturer uses the time available to him/her strongly \. strongly agree =21 av=43  md=50 dev=09
for the essentials. disagree , = = = =Y
1.11) The lecturer clearly demonstrates how diverse strongly i strongly agree ~ B 5 N
information is interrelated. disagree \ n=21 av=42 md=50 dev=09
112) The lecturer expresses himself/herself clearly strongly \. strongly agree ~ B _ ~
and comprehensibly. disagree / n=21 av.=45 md=50 dev=08
113) The course provides a good overview of the strongly ./ strongly agree
subject area. disagree A - n=21 av=43 md=40 dev=08
- : P .
1-14) The level of difficulty of the course is... much too low P much too high >y =30 md=30  dev=05
115 The scope of the course is... much too low N\ much too high
/" n=21 av.=3,6 md=3,0 dev.=0,8
116) The pace of the course is... much too low ./ much too high
'\\ n=21 av.=3,1 md=3,0 dev.=0,4
117) Qverall, | am very satisfied with the lecturer as strongly \T\ strongly agree
the course instructor. disagree ‘ I n=21 av.=44  md=50 dev=09
1.18) Qverall, | am very satisfied with the course. strongly ‘ .[ strongly agree
disagree ‘ / n=21 av.=4,2 md=5,0 dev.=0,9
119 How much have you learnt in this course? very little U very much
4‘ n=21 av.=4,0 md=4,0 dev.=0,7
7/
1.20) What was your level of interest in the course very low e ‘ very high ~ ~ 5 B
subject before the course began? ‘ n=21 av.=32  md=3,0 dev=11
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